3 Analysis of Non-Recursive Functions
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GENERAL PLAN FOR ANALYSING THE EFFICIENCY OF NON-RECURSIVE ALGORITHMS
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1) Decide on parameter(s) that indicate input size.

2) ldentify the basic operation
#* Lind b on He [nm/-ma6L {oap

3) Check whether the number of times the basic operation is performed
depends only on the input size.
a. If so : worst-case analysis is enough.
b. Otherwise : average-case or amortized analysis may be applicable.

4) Set up a sum counting the number of execution of the basic operation

5) Simplify the sum to closed form.
If not possible, try to ascertain the order-of-growth of the function.
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